
Fourierreihe
Eulerformeln

ejx = cos(x) + j sin(x),

sin(x) =
ejx − e−jx

2j
, cos(x) =

ejx + e−jx

2

T =
2π

ω
ω = 2πν

Fourierreihe von T -periodischen Funktionen

f(t) =
a0
2

+

∞∑

n=1

(
an cos(nωt) + bn sin(nωt)

)

an =
2

T

∫ T

0

f(t) cos(nωt)dt a0 =
2

T

∫ T

0

f(t)dt

bn =
2

T

∫ T

0

f(t) sin(nωt)dt

Komplexe Darstellung

f(t) =

∞∑

n=−∞
cne

jnωt, cn =
1

T

∫ T

0

f(t)e−jnωtdt

Umrechnung:

c0 =
a0
2
, cn =

1

2
(an − jbn),

c−n =
1

2
(an + jbn), n = 1, 2, 3, . . .

Satz von Parseval

1

T

∫ T

0

f(t)2dt =

∞∑

n=−∞
|cn|2 =

a20
4

+
1

2

∞∑

n=1

(
a2n + b2n

)

Tabellen
Wichtige Fourierreihen
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f(x) = π − 2

∞∑

n=1

sin(nx)

n
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f(x) =
π

2
− 4

π

∑

n ung.

cos(nx)

n2


